In columns:
D-tree - distribution of gene duplications
L-tree - distribution of gene losses

mutation cost (sum of duplications and losses)

D-Tree 1 L-Tree 1

D*6214+L*8052=14266

D*6588+L*9479=16067

D*6807+L*10528=17335

D*7793+1.*14846=22639

D*7767+1.%14924=22691




D-Tree 6

L-Tree 6

D*8213+1.*14600=22813

D*8413+L*15185=23598

D*8587+1L*16027=24614

D*8492+1.*16711=25203

D*8787+1*16612=25399

D*8376+L*17496=25872




D-Tree 12

L-Tree 12

D*8806+L*17076=25882

D*8504+L*17516=26020

D*9006+L*17661=26667

D*8369+L*18399=26768

D*8696+1.%19364=28060

D*8807+L*20086=28893




D-Tree 18

D*8914+1.*20162=29076

D*8882+L*20371=29253

D*8493+1.*21585=30078

D*9061+1*21171=30232

D*8791+1.*21618=30409

D*8496+1*21930=30426




D-Tree 24

L-Tree 24

D*8807+1L*21875=30682

D*9152+1.*21614=30766

D*9270+1.*21661=30931

D*9259+1L*21776=31035

D*9279+1.%22689=31968

D*9253+1L*22773=32026




D-Tree 30

L-Tree 30

D*9811+1.%22234=32045

D*9822+1.*23463=33285

D*10063+1*23423=33486

D*9952+1.%24016=33968

D*9296+1.%24870=34166

D*9394+1.%24847=34241




D-Tree 36

L-Tree 36

D*9974+1.%24299=34273

D*9843+1.%24602=34445

D*10535+L*23949=34484

D*10077+1.*24419=34496

D*9397+1.*25192=34589

D*9811+1.*24811=34622




D-Tree 42 L-Tree 42

D*9300+1L*25468=34768

D*10417+1.*24413=34830

D*9355+1.*25588=34943

D*9677+L*25596=35273
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D-Tree 46 L-Tree 46

D*9954+1.%25324=35278

D*9377+1L*25959=35336




D-Tree 48

L-Tree 48

D*9675+1L*25706=35381

D*9351+L*26056=35407

D*9546+1*25878=35424

D*9922+1.*25533=35455

D*9380+1L*26304=35684

D*9562+1L*26135=35697




D-Tree 54 L-Tree 54

D*10804+L*24897=35701
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D*10643+L*25389=36032
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D*9566+1*26791=36357

D*9582+1L*27048=36630
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D-Tree 58 L-Tree 58

D*10511+1L*26140=36651

D*10423+L*26340=36763
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D-Tree 60

L-Tree 60

D*10057+1L*27162=37219

D*10617+L*27133=37750

D*10061+L*27760=37821

D*10422+1L*27460=37882

D*10415+L*27549=37964

D*10793+1L*27294=38087
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D-Tree 66

L-Tree 66

D*10155+L*27990=38145

D*10624+L*27569=38193

D*10209+1L*27998=38207

D*10151+L*28458=38609
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D*10280+1*28393=38673

D*10462+1L*28267=38729
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D-Tree 72

L-Tree 72

D*10609+1*28130=38739

D*10213+L*28596=38809

D*10800+1L*28101=38901

D*10641+1L*28276=38917

D*10276+L*28861=39137

D*10657+L*28511=39168
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D-Tree 78 L-Tree 78

D*11176+1*28908=40084

D*11331+L*29379=40710

D*11346+L*29451=40797

D*11504+L*30042=41546

D*11198+1*31066=42264

D*11110+L*31266=42376
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D-Tree 84

L-Tree 84

D*11274+1*31426=42700
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D*11247+1L*31520=42767

D-Tree 86

D*11267+L*31515=42782
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D*11159+L*31720=42879

D-Tree 88

D*11314+1.*32233=43547

D*11311+L*32495=43806
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D-Tree 90

L-Tree 90

D*11343+1*32510=43853

D*11321+L*32593=43914

D*11336+1L*32599=43935

D*11497+1*32668=44165

D*11497+1L*32754=44251

D*11360+L*32949=44309
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D-Tree 96

L-Tree 96

D*11399+1*32944=44343

D*11529+1*32814=44343

D*11545+1*33049=44594

D*11575+L*33105=44680
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D*11383+L*33317=44700

D*11504+L*33561=45065
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D-Tree 102

L-Tree 102

D*11574+1.%33493=45067

D*11606+L*33639=45245

D*11582+1.*33912=45494

D*11622+1L*33874=45496
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